gaa M bbn phan s6, s6 thap phan, thir tu cac phép toan

Tén: Ngay thang: Piém:
5.8+4.2><3+%= %+16X%+4+5X%=

%—2.9—4><2.3= 4.4+§—3><%=

§+%—2X3.2= 4.7—12><2.8+3+5><§=

%—4.1+5X%= %+4.3+3X%=

%_5'3”_%: 27+57-2x35=
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oo @ bbn phan s6, s6 thap phan, thir ty cac phép toan

Tén: Ngay thang: _ Diém:_
5.8+4.2X3+%=%=19% %+16><%+4+5><%=T—(7)=41—70
%—2.9—4><2.3=(—55—8)=(—11%) 4.4+%—3X§=15—9=3§
§+%—2X3.2=(—%)=(—5%) 47—-12x28+3+5x §=(—16—9)=(—3é)
%—4.1+5X%=(—§—(7))=(—1%) %+4.3+3X%=%=61—30
%—5.3X3—§=(—96—7)=(—16é) 2.7+5.7—2X3.5=;=1§
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